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 Problem Description:  

 

In AI’s configuration, there are “Low Scaling Value” and “High Scaling Value”, May I know how 

to use these scaling? From what I tried out with “Low Scaling Value = 0”, it seems to be:  

(engineeringValue/scalingRange)*modbusRange 

But when I change “Low Scaling Value”, the scaled value became 0. May I know how to 

calculate scaled value exactly? 
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 Brief Solution - Step by Step: 

 

For AI of WISE-4012E, the input range is 0~10V, and the corresponding Modbus raw data from 

0 to 10000 

 

If low scaling is set at 3.00 and high scaling is set at 9.00 for CH0, the Modbus value of 40191 

will be 0 when measuring the 3V and 10000 when measuring 9V. 

(For 3+9/2=6V, the raw data will be 5000) 

 

 

 

 

For the data format of“Low Scaling Value” and “High Scaling Value”, please see the following 

table. 

 

 


